
ikterus  
 
popis bili konj 
T-test 
nástroj: https://www.statskingdom.com/ 

 

 
 

The p-value equals 7.327e-14,  

 

 

uro moč 

Počet z urobilinogen.urine urobilinogen.urine     

group neg poz Celkový součet 

IK 91 41 132 

KO 9 4 13 

Celkový součet 100 45 145 

 
https://www.graphpad.com/quickcalcs/contingency1/ 
Fisher's exact test 
The two-tailed P value equals 1.0000 
The association between rows (groups) and columns (outcomes) 
is considered to be not statistically significant. 
 
 
 
hmotnost jater 



 

 
 

The p-value equals 6.169e-9, 

 

bilirubin v moči X konj. bilirubin: 

 

 
The p-value equals 0.000002153,  

 

diabetes 

glykémie 90 min 



 
 

 
 
 

The p-value equals 0.07543 

 

Glykémie 30 minut 

 

 
The p-value equals 0.6171, 

 


